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EXAMTNATION PAPkkS IN ARITirMETIC. 31

9. If 7 horees are worth 21 cows, and 8 cows
are worth n2 sheep, and 13 sheep are worth $91, find
the value ot 2 J horses.

10. 4G men can do a piece of work in 7G days,
in how many days can 19 men do a piece of work
twice as great ? {

:
' .

' :: '^*
;

1 1. By what number must 9G8 be multiplied to
giiff,847 times G59G8 ? .;

.;

I,
^,12. 2583G pounds of coffee are put into boxes,

an equal number of each, containing 7 lbs. and 6
lbs. How many boxes will be required ? , ,

^ doB '
EXERGISE IIL, ., ^ Ufw^.>^ ^fiu^

1. Find the smallest number that will exactly
conUin 324, 3G0 and 432.

2. Fmd the value of 4704 pounds of barley at
(i4 cents per bushel.

3. The product of four consecutive numbers is
1 1880 ; what are the numbers ?

4. A farmer bought land from one man at $G6
an acre, and the same number o^ acres from another
man at $74 per acre. The whole amount paid w^
$0^026: How many acres did he buy from each ?

'."

.xj£/if A PSi'sop4)pughtacertain number of barrels
f»f flour for $2700 ; he kep^^ barrels for use, and sold
thft.^emAiwder f<)r $336^ which was ^840 more than
co^t. How.p^ny ])arrels did he buy ? ,..

6. The feum of two.aijinh^^ is 9590, ani'tstr
dinerenca ig A7fi8 : wha*. sta ihfv ssiar^kaT^ ?

^ 7. Find ijie least,num^r which, divide(i by 146»
219 and 365 gives 23 for a remainder in each case.


